

# Even and Odd Functions

There are certain special cases when the Fourier series of a function  $f$  reduces to a pure cosine or a pure sine series. These special cases occur when  $f$  is even or odd.

DEFINITION: A function  $f$  that satisfies

$$f(-x) = f(x)$$

for every number  $x$  in its domain is called an **even function**. A function  $f$  that satisfies

$$f(-x) = -f(x)$$

for every number  $x$  in its domain is called an **odd function**.

REMARK: Any function is either even, or odd, or neither.

PROPERTY: Graphs of even functions are symmetric with respect to the  $y$ -axis. Graphs of odd functions are symmetric with respect to the origin.

EXAMPLES:

1. Functions  $f(x) = x^2, x^4, x^8, x^4 - x^2, x^2 + 1, |x|, \cos x$ , etc. are even. In fact,

- if  $f(x) = x^2$ , then  $f(-x) = (-x)^2 = x^2 = f(x)$
- if  $f(x) = x^4$ , then  $f(-x) = (-x)^4 = x^4 = f(x)$
- if  $f(x) = x^8$ , then  $f(-x) = (-x)^8 = x^8 = f(x)$
- if  $f(x) = x^4 - x^2$ , then  $f(-x) = (-x)^4 - (-x)^2 = x^4 - x^2 = f(x)$
- if  $f(x) = x^2 + 1$ , then  $f(-x) = (-x)^2 + 1 = x^2 + 1 = f(x)$
- if  $f(x) = |x|$ , then  $f(-x) = |-x| = |x| = f(x)$
- if  $f(x) = \cos x$ , then  $f(-x) = \cos(-x) = \cos x = f(x)$

One can see that graphs of all these functions are symmetric with respect to the  $y$ -axis.

2. Functions  $f(x) = x, x^3, x^5, x^3 - x^7, \sin x$ , etc. are odd. In fact,

- if  $f(x) = x$ , then  $f(-x) = -x = -f(x)$
- if  $f(x) = x^3$ , then  $f(-x) = (-x)^3 = -x^3 = -f(x)$
- if  $f(x) = x^5$ , then  $f(-x) = (-x)^5 = -x^5 = -f(x)$
- if  $f(x) = x^3 - x^7$ , then  $f(-x) = (-x)^3 - (-x)^7 = -x^3 + x^7 = -(x^3 - x^7) = -f(x)$
- if  $f(x) = \sin x$ , then  $f(-x) = \sin(-x) = -\sin x = -f(x)$

One can see that graphs of all these functions are symmetric with respect to the origin.

3. Functions  $f(x) = x + 1, x^3 + x^2, x^5 - 2, |x - 2|$  etc. are neither even nor odd. In fact,

- if  $f(x) = x + 1$ , then  $f(-1) = -1 + 1 = 0, f(1) = 1 + 1 = 2$ , therefore  $f(-1) \neq \pm f(1)$
- if  $f(x) = x^3 + x^2$ , then  $f(-1) = (-1)^3 + (-1)^2 = -1 + 1 = 0, f(1) = 1^3 + 1^2 = 2$ , therefore  $f(-1) \neq \pm f(1)$
- if  $f(x) = x^5 - 2$ , then  $f(-1) = (-1)^5 - 2 = -1 - 2 = -3, f(1) = 1^5 - 2 = 1 - 2 = -1$ , therefore  $f(-1) \neq \pm f(1)$
- if  $f(x) = |x - 2|$ , then  $f(-1) = |-1 - 2| = |-3| = 3, f(1) = |1 - 2| = |-1| = 1$ , therefore  $f(-1) \neq \pm f(1)$

Even and odd functions satisfy the following elementary properties.

1. The product of two even functions is even.
2. The product of two odd functions is even.
3. The product of an odd function with an even function is odd.
4. The integral of an odd function  $f$  over a symmetric interval  $[-l, l]$  is zero; that is,

$$\int_{-l}^l f(x)dx = 0 \quad \text{if } f \text{ is odd}$$

5. The integral of an even function  $f$  over the interval  $[-l, l]$  is twice the integral of  $f$  over the interval  $[0, l]$ ; that is,

$$\int_{-l}^l f(x)dx = 2 \int_0^l f(x)dx \quad \text{if } f \text{ is even}$$

LEMMA 1:

(a) *The Fourier series for an even function is a pure cosine series; that is, it contains no terms of the form  $\sin n\pi x/l$ .*

(b) *The Fourier series for an odd function is a pure sine series; that is, it contains no terms of the form  $\cos n\pi x/l$ .*

THEOREM 3: *Let  $f$  and  $f'$  be piecewise continuous on the interval  $0 \leq x \leq l$ . Then, on this interval,  $f(x)$  can be expanded in either a pure cosine series*

$$\frac{a_0}{2} + \sum_{n=1}^{\infty} a_n \cos\left(\frac{n\pi x}{l}\right)$$

*or a pure sine series*

$$\sum_{n=1}^{\infty} b_n \sin\left(\frac{n\pi x}{l}\right)$$

*In the former case, the coefficients  $a_n$  are given by the formula*

$$a_n = \frac{2}{l} \int_0^l f(x) \cos\left(\frac{n\pi x}{l}\right) dx, \quad n = 0, 1, 2, \dots \quad (1)$$

*while in the latter case, the coefficients  $b_n$  are given by the formula*

$$b_n = \frac{2}{l} \int_0^l f(x) \sin\left(\frac{n\pi x}{l}\right) dx, \quad n = 0, 1, 2, \dots \quad (2)$$

EXAMPLE: Expand the function  $f(x) = 1$  in a pure sine series on the interval  $0 < x < \pi$ .

Solution: By Theorem 3,

$$f(x) = \sum_{n=1}^{\infty} b_n \sin nx$$

where

$$b_n = \frac{2}{\pi} \int_0^{\pi} \sin nx dx = \frac{2}{n\pi} (1 - \cos n\pi) = \begin{cases} 0, & n \text{ even} \\ \frac{4}{n\pi}, & n \text{ odd} \end{cases}$$

Hence,

$$1 = \frac{4}{\pi} \left[ \frac{\sin x}{1} + \frac{\sin 3x}{3} + \frac{\sin 5x}{5} + \dots \right], \quad 0 < x < \pi$$

EXAMPLE: Expand the function  $f(x) = e^x$  in a pure cosine series on the interval  $0 \leq x \leq 1$ .

Solution: By Theorem 3,

$$f(x) = \frac{a_0}{2} + \sum_{n=1}^{\infty} a_n \cos n\pi x$$

where

$$a_0 = 2 \int_0^1 e^x dx = 2(e - 1)$$

and

$$\begin{aligned} a_n &= 2 \int_0^1 e^x \cos n\pi x dx = 2 \operatorname{Re} \int_0^1 e^x e^{in\pi x} dx \\ &= 2 \operatorname{Re} \int_0^1 e^{(1+in\pi)x} dx = 2 \operatorname{Re} \left\{ \frac{e^{1+in\pi} - 1}{1 + in\pi} \right\} \end{aligned}$$

One can show (see the Appendix) that

$$2 \operatorname{Re} \left\{ \frac{e^{1+in\pi} - 1}{1 + in\pi} \right\} = \frac{2(e \cos n\pi - 1)}{1 + n^2\pi^2}$$

Hence,

$$e^x = e - 1 + 2 \sum_{n=1}^{\infty} \frac{(e \cos n\pi - 1)}{1 + n^2\pi^2} \cos n\pi x, \quad 0 \leq x \leq 1$$

## Appendix

Here we show that

$$\operatorname{Re} \left\{ \frac{e^{1+in\pi} - 1}{1 + in\pi} \right\} = \frac{e \cos n\pi - 1}{1 + n^2\pi^2} \quad (3)$$

To this end, we first note that

$$\begin{aligned} \frac{e^{1+in\pi} - 1}{1 + in\pi} &= \frac{e \cdot e^{in\pi} - 1}{1 + in\pi} = \frac{e(\cos n\pi + i \sin n\pi) - 1}{1 + in\pi} = \frac{e(\cos n\pi + i \cdot 0) - 1}{1 + in\pi} \\ &= \frac{e \cos n\pi - 1}{1 + in\pi} \\ &= \frac{(e \cos n\pi - 1)(1 - in\pi)}{(1 + in\pi)(1 - in\pi)} \\ &= \frac{(e \cos n\pi - 1)(1 - in\pi)}{1^2 - (in\pi)^2} \\ &= \frac{(e \cos n\pi - 1)(1 - in\pi)}{1 + n^2\pi^2} \end{aligned}$$

so

$$\operatorname{Re} \left\{ \frac{e^{1+in\pi} - 1}{1 + in\pi} \right\} = \operatorname{Re} \left\{ \frac{(e \cos n\pi - 1)(1 - in\pi)}{1 + n^2\pi^2} \right\} \quad (4)$$

But

$$(e \cos n\pi - 1)(1 - in\pi) = (1)(e \cos n\pi - 1) - (in\pi)(e \cos n\pi - 1)$$

therefore

$$\operatorname{Re} \{(e \cos n\pi - 1)(1 - in\pi)\} = e \cos n\pi - 1$$

This and (4) give (3).